## <u>DerivAtives</u>

## OBJE CTVES :

• RECALL & JUSTIFY DERIVATIVE RULES & PROPERTIES THAT WE SAW BEFORE EXAM 1.

• PRACTICE COMPUTING DERIVATIVES USING RULES & PROPERTIES

WE SHOULD ALSO RECALL THE FOLLOWING PROPERTIES: PROPERTIES.

•  $[f(x) \pm g(x)]' = f'(x) \pm g'(x)$ EQUIVALENTLY:  $\frac{d}{dx}(f(x) \pm g(x)) = \frac{d}{dx}f(x) \pm \frac{d}{dx}g(x)$ •  $[C \cdot f(x)]' = C \cdot f'(x)$  FOR A CONSTANT C. EQUIVALENTLY:  $\frac{d}{dx}(cf(x)) = c \cdot \frac{d}{dx}f(x)$ 



EXAMPLES: USE THE RULES/PROPERTIES WE ALREADY KNOW TO FIND THE DERIVATIVES OF THE FOLLOWING?

(i) 
$$f(x) = (x+q)(x-4)$$
 what's the issue there?  
How CAN I APPLY THE POWER RULE?  
FIND  $f'(x)$ .

FOL  

$$f(x) = (x+4)(x-4)$$

$$= x^{2} - 4x + 9x - 36$$

$$= x^{2} + 5x - 36 \longrightarrow \text{Now } | can \text{ use power Rule!}$$

$$\int \int \int dx = 5 \quad \text{o} \quad \text{so} \quad f'(x) = 3x + 5$$

(ii) 
$$T(z) = \sqrt{z} + 9\sqrt[3]{z^{7}} - \frac{2}{\sqrt[5]{z^{2}}}$$
 we might what to rewrite this first. (Using exponents)  
Find  $T'(z)$ .  

$$T(z) = z^{1/2} + 9(z^{7})^{1/3} - 2(z^{2})^{-1/5}$$

$$= z^{1/2} + 9z^{7/3} - 2z^{-2/5} \longrightarrow Now \ (Can \ Use \ Power \ Que!)$$

$$\sum_{\substack{n=1/2\\n-1=-\frac{1}{2}z^{-1/2}} \sqrt{1-2z^{-2/5}}$$

$$\sum_{\substack{n=3/3\\n-1=-\frac{1}{2}y^{2}} \left\{ \frac{1}{2}z^{-1/2} + \left(\frac{1}{3}\right) \cdot 9z^{4/3} - \frac{1}{2}z^{-2/5} \right\}$$

$$So \left[ T'(z) = \frac{1}{2}z^{-1/2} + \left(\frac{1}{3}\right) \cdot 9z^{4/3} - \frac{1}{2}z^{-2/5} \right]$$